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UNIVERSITY OF NORTH BENGAL 

B.Com. Programme 4th Semester Examination, 2022  

DSC8-COMMERCE 

BUSINESS MATHEMATICS AND STATISTICS 
Time Allotted: 2 Hours Full Marks: 60 

The figures in the margin indicate full marks. 
 All symbols are of usual significance. 

 GROUP-A / িবভাগ-ক 

 Answer any two questions 
fuEufyf[kr esa ls fdUgha nks iz”uksa ds mÙkj fy[ksa 

েয-েকান dিট  pেűর উtর দাও 
rydk dquS nqbZoVk iz”udk mÙkj ys[uqgksl~ 

12×2 = 24

1.  (a) Find the Mean and Median weekly wages from the following frequency 
distribution: 

Wages (`): 30-40 40-50 50-60 60-70 70-80 80-90 
No. of Workers: 8 20 40 18 10 4 

 

4+4

(b) Let ⎥
⎦

⎤
⎢
⎣

⎡
21
13

A ,  prove that OIAA 752 . Where I is unit matrix and O is 

null matrix. 

4

  
2.  (a) Solve the following equations by Matrix inversion method:

 1432 zyx  
 1552 zyx  
 13423 zyx  

8

(b) Mention the utilities of Index Numbers. 4
 ‘Index Numbers’ dh mi;ksfxrk ds ckjs esa fyf[k;sA 
 সূচক সংখ°া-র pেয়াজনীয়তাgিল েলখ। 
 ‘Index Numbers’ dks mi;ksfxrkg: mYys[k xuZqgksl~A 
  

3.  (a) Find the Standard Deviation from the following frequency distribution: 6

Earned Profit (`’000): 50-100 100-150 150-200 200-250 250-300 300-350 350-400
No. of Company: 3 8 9 12 18 23 17 
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(b) If 
x

xxxy 5432 23

, find dx
dy  when 4x . 6

  
4.  (a) Calculate the Co-efficient of Correlation for the ages of husband and wife. 6

Ages of Husband: 23 27 28 29 30 31 33 35 36 39 
Ages of Wife: 18 22 23 24 25 26 28 29 30 32 

 

(b) Prove that: 1
1
1lim

x
x

x
 6

  
 GROUP-B / িবভাগ-খ 

5. Answer any four questions: 
fuEufyf[kr esa ls fdUgha pkj iz”uksa ds mÙkj fy[ksa 
িনmিলিখত েয-েকান চারিট  pেűর উtর দাওঃ 
rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ 

6×4 = 24

(a) A.M. of two numbers is 10, G.M. of the same numbers is 8. Find H.M. of those 
numbers. 

6

(b) From the following data, find the regression equation of y on x: 6
 Age x: 56 42 72 36 63 47 55 49 38 

Blood Pressure y: 147 125 160 118 149 128 150 145 115 
 

(c) If 
⎥
⎥
⎥

⎦

⎤

⎢
⎢
⎢

⎣

⎡

34
21
32

A  and ⎥
⎦

⎤
⎢
⎣

⎡
132
421

B  

Find AB. 

6

(d) If 323 )52( xxxy , find dx
dy  6

(e) Calculate Mean Deviation from mean of the following data:
Marks (x): 5 10 15 20 25 Total
Students (f:) 6 7 8 11 8 40

 

6

(f) Evaluate: x
xx

x

11lim
0

 6

  
 GROUP-C / িবভাগ-গ 
6. Answer any four questions: 

fuEufyf[kr esa ls fdUgha pkj iz”uksa ds mÙkj fy[ksa 
িনmিলিখত েয-েকান চারিট  pেűর উtর দাওঃ 
rydk dquS pkjoVk iz”udk mÙkj ys[uqgksl~ 

3×4 = 12

(a) Mention the important properties of Correlation Coefficient )(r . 3
 Correlation Coefficient )(r  dks egRoiw.kZ xq.k (properties) fyf[k;sA 
 Correlation Coefficient )(r -এর �বিশŶ°gিল ব°াখ°া কর। 
 ‘Correlation Coefficient’ )(r  dks egÙo xq.kg: mYys[k xuZqgksl~A 
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(b) In a frequency distribution, the Mode and Mean are 32.1 and 35.4 respectively. 
Calculate Median.  

3

 ,d frequency distribution esa Mode vkSj Mean dk eku 32.1 and 35.4 gS] 
Median dk eku fu/kkZj.k dhft;sA 

(c) What are the advantages of Mode? 3

 ‘Mode’ ds Qk;nk (advantages) ds ckjs esa fyf[k;sA 

 Mode-এর সুিবধাgিল িক িক ? 

 eksMdk Qkbnkg: ds gqu~ \ 

(d) What is Diagonal matrix? 3
 Diagonal matrix fdls dgrs gSa \ 

 Diagonal matrix িক ? 

 Diagonal matrix ds gks \ 

(e) What is the general rule of Matrix multiplication? 3
 Matrix multiplication ds lk/kkj.k fu;e (general rule) D;k gS \ 

 Matrix multiplication-এর সাধারণ িনয়ম িক ? 

 E;kfVªDl xq.ku (Matrix multiplication) dks lkekU; fu;e ds gks \ 

(f) Evaluate: 1
1lim

4

1 x
x

x
 3
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